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BACHELOR OF SCIENCE (B.Sc.)

Term-End Examination

.14	 June, 2010

O	 LIFE SCIENCE
O	 LSE-10 : ANIMAL DIVERSITY-II

Time : 3 hours	 Maximum Marks : 75

Note : Question no. 1 is compulsory. Attempt any six

questions from. Q. No. 2 to 8. Draw diagrams wherever

necessary.

1.	 (a) Define any five of the following terms :	 5

Chromatophore

Fenestra

Baleen

Circadian rhythm

Pecten

Myelin sheath

(b) State two important functions of each of the	 5
following :

Uropygial glands

Bowman's capsule

Retina

Pit organ

(v) Haemoglobin
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(c)	 Match the following :

Column-I

5

Column-II

(i) Meibomian
gland

(A) Sphenodonta

(ii) Labyrinthine
organ

(B) ADH

(iii) Neurohypo
physis

(C) Anabas

(iv) Auricularia (D) Echinoderm

(v) Tuatara (E) Eyelid of
Mammals

Explain human dentition.	 5

Name four types of feathers found in 	 5
modern birds. Draw a labelled diagram of
flight feather.

3.	 Differentiate between the following pairs

(any four) :	 4x21/2=10

Batesian and Mullerian mimicry.

Horns and Antlers.

Autostyly and Holostyly.

Monotremes and Marsupials.

(e) Cycloid and ctenoid scales.
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(a) Describe the intromittent organs	 of	 5
amniotes.

(b) List any five hormones secreted by anterior 	 5
pituitary and their functions.

Write short notes on the following : 	 2x5=10

Echolocation in bats.

Significance of bioluminescence in fishes.

(a) Draw a well labelled diagram of human ear. 	 5

(b) Describe the structure of a ruminant	 5
stomach with a well labelled diagram.

(a) Explain the phenomenon of migration in 	 5
birds.

(b) Describe the accessory respiratory organs in 	 5
fishes.

8.	 Explain evolution of aortic arches in vertebrates 10
with suitable diagrams.
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